
��������� � 	�
��
� � �����	�
��� � 
���

�������	�������������� �!�"#$$��%��

�&������'�(������)'	��*�+��*�
���
)�
,-
-�.����
����
�'�(���������*�
�
,	-��*�
�-����+���'	�(�-�(*��'*�/�
�0��'�0,-�
�
�1*0*��'	*�0�'�(*'��	���

�������	
��
��


�$����2����2�	��!�3������%����4�%������*�5��4�%������6�3�%����7��7���5�	2��8�8%�4
$	4�
�	2��36
���692� �� 
:�6�%
�7�� 6��������7� #4	;6�2�
�$	4�
��2�:�
��� �$����� 6��
��

$#��%92� ��
!
� 6#3�����	�	�
��2���
������� �� � $	!	;���
�2� %�972�4�
�	2�7� $���8%�����<

�8%�4�8�!
3
�8�=���#��>3��?�3	���7�8%�
�7��	:�
�92���	$�	��
4	2
��
��8!#;>���	�3	�$	@
4�
�#��37=A��	:6������
�$���8%�������	�$	!	;���
�4����	��� �$#��%92��2��	�
��
��
� %�7
$	38%
2��� $�2��� �
�
6��� �� 8$	��>3����
� 3	�#4��%
�7��2�$	8%
���2����892� �� %
:�6<��	
��7�8%�
�7�� 	:�
�92� 8!#;>� 32
� 8�
6�:�	2
��� ��5�	2�� 
$
�
%�� 5	%	��
5������ 	� 	8�
� � �
@
4����:��;��� �$	3��>%�4�#4	;6�2�
7>��4���7�8%�
�7=��
��37=��
� ��
!��	���
!
���!	2���
�
2�%�4�7��	���=B���	3:�%�7�2�6#8%����:=3>��4��92���;���=B��>�8�8%�4#<�����
��
���$	4�
@
��4�5	%	��
4�%������4�$#��%��8>�$������8�����4��6�4��%92��	BA�
��
�$	2����� ��=���
@
!
�$
�7��%
� ��8>�8���
6��	2
���8%��	$�
�	2�4���#6�
4�<��	�#4��78�	2����
�4	3�6#��:#@
3	2
���	� �
� $	38%
2��� �37=A� 2� ��2�=%����4� #�!
3���� 	3���8����
� 8!#;>� 5	%	$#��%�
2�$	8%
���$
$���	2�� �:�
!	@��
���� ���
���92�#4��8���	��� ��
�$!
8����C����6#8%�
<

�	%�� ��
8	2��4
�#
6���8$	89:�$	4�
�#�$#��%92��
��37=��
� �������8�8%�4�4
!	
�	��#�����7��4�2�$	�92�
��#�������%9��4������4��8�8%�4
4��2��	���8%�2
��4��2���@
 
:�6�%
�7�� 6��������7�� �
%�4� 
#%	4
%��
�7
� $	4�
�#� 7�8%� 6	������4� �%
$�4� 	$%�4
6��
�7�
���	�2	7#�8�8%�4#<

� �
����������	�
��@
��	�
����-�����!�������������	�
������*	��	������D���������
�� E��6����F���<����<�<��)�����
��� ����
���	�������	�	��������
�����	���)1(�	��G�������H��I

���



GJ�  <������
�����!<�
������

����
���
��
��
������
�
����

"	� $���8%#3�	2
��#� 6�%��
%#��� 3	%���>��7� 8�8%�492� 8%	8	2
��� � 3	� $	4�
�#� ��
!

6#3�����	� K�L� �� :�	�>��$	3�#2
�=��
!	;���
�	�
��2
�#����3��
!
��
��
8���	� 8�8%�4#��3	
3�%���7��8���
!92��
����6��$
�7��%
�$	8%
�	2�	�	��
8%	8	2
A�8��4��%
�7=�	:�
�#���2��	@
���8%
���4�:
�2�<�#!
%2�����4�%�7�3�%���7�� 7�8%�4	;6�2	BA�:
�2����
�8%��	$�
�	2�� ��#@
6����
�3	2	6����	6	����
%�4��
76�$��7��
� %
�����%9�������2�8%=$#7�� 6#:�2�8%=$#7��:
�3�	
��
3�	��
� �37=��
� � 5	%	��
5	2
��� �2��
:������� 6��
�8��4� $
�7��%92<�"	� ��8$���4��@
%
� ��
��
76�$��7��
3
7>���8�=�3	�%��	���6#��	6	��#��
�	��	6	�����6	��<

"	���2
;� 3�5���	2
���� :
�2�� 2� 8�8%�4��� ��$� M2� �%9��4� ��7�8%�	2
��� 8>� 	:�
��
�� 
$
�
%#� ��5�	2��	� #;�2
���	� 3	� ��7�8%�
�7�N� 7�8%� #%�#3��	��� $����� $	3
2
���� %���� 
8�!
3	2�� ��3�%���7=�$	8%
�	2�	�	�$���$�	2
3�
A�2�$���8%������:
�2�"%*<

��
�85	�4
�7��	:�
�#�����$�3	�"%*�3	�	�
�	�2�3!#��5	�4#!��M�N

⎡ ⎤⎡ ⎤ ⎡ ⎤⎢ ⎥⎢ ⎥ ⎢ ⎥⎢ ⎥= −⎢ ⎥ ⎢ ⎥⎢ ⎥⎢ ⎥ ⎢ ⎥⎣ ⎦−⎢ ⎥⎢ ⎥⎣ ⎦ ⎣ ⎦

��
 ��
 ��

& � '

��
 ��
 ��

& � � '

��
 ��

& � � '

��( ��( ��( & � � '

� ��) ��) 
�) & � � '

& � � '
 ��
 ��
 �

��� � �

��� � � �

��� � � �

� �	 � � �


 �	 � � �

�	 � � �


M�N

�3���O
����M���N P 
��%
�K�����M���N*�����M���NL�

����M���N P K�����M���N�Q�����M���N�L�*��
�3���O

	�M�����N R 8�!
3	2
���4	3�6#���$�
	�M�����N R 8�!
3	2
���4	3�6#���$�
	�M�����N R 8�!
3	2
�$�4	3�6#���$�

���M���N R 	:�
��7
8�	B���36
�%��$6�%#��
�
!92�8$��%�
6��� ���������

����M���N R 	:�
��:
�2��36
�%��$6�%#��
�
!92�8$��%�
6��� ���������
����M���N R 	:�
���
8�����
�36
�%��$6�%#��
�
!92�8$��%�
6��� ��������<

+�:9��2�	��
��	6	�#�$���$�	2
3�	�	��
�$	38%
2���$�9:����	6	�#�2�32	7
��� 8$	@
89:O

�N 2�	$
���#�	�2
�%	B���4
�8�4
6�����4���4
6����������3	2	6���
S
�N $����� 2���
������� ��$�����%
%�2��� � $
�
4�%�92� 8%
%�8%������ � R� 2
�%	B��

B��3���7��
��	3� �6���
�8%
�3
�3	2��	�σ��� ���,6�
��	����� �
������
-������.
����@
��������
�T�Uσ���6��������
<

��8$���4��%�� 2��
�
!��� ;�� 6�$8��� ���#6%
%�� 3�%���7�� 3
7�� 8$	89:� $���28���� 2	:��
����	�2�	������	6	�92�$	8����	�	�%�;�	��
���8�4���4
6��� ��4
�8�4
6���8�!
3	2�7�:
�@
2���
8
3�����7�3	4��#7>��7�M2�%�4�$���$
3�#�R��N<

�/
68���$
�
4�%���8��4��%
�7��%	O��6	BA�2�3���6	��� �$���6��
7>��� �3	�8��:���$��8�6�
M$
�
4�%���4������36
��9;��� ��	�3���6��	B���
$
�
%92N��#8�%#	2
�����
�	:�
���� ��	36�@
�!	BA���#$�2����%�� �$��8�6�<



�#%�4�%������3	%	
�7����$�4����4��
	�92�2��5�%����4	%������4<<< 
��

����
!�3��
���$�����4#���2�
��%�4��8����!�4����2���������4���� ��	�%��4��$�
�@
�#7	���8#�	
��<

��������-�������	�����������������������
�	����������������������
�	����������������������
	��
��6��������������
�����6�����������

0�
�	��������������!��� �������
���	��������������6���������6������������������@
���!�������������	���<�(��6�
�	��������������	�"
������	�!�������
��������
�����6�����@
�������������	�����6�����6����� ��������������	�#
���6�����	�!���������	�
$���6������<

*����	�������	�����������!����������
���������	���������"
��
$������	�
��	�
$
��� ����
��	���	��� ����� ������!���� �#����6�	��� ��
��	��� %� #����!��� ���!���� ���������@
	�������	�����	��������	���6	����
��	����<

�N

:N




�
 &<�'�
�����
��(<�"#$$	�%

�������
���
����	�����
��	

�3�=:��4� ����3��	��	4� 7	8%� $�4���� �	�%�92� 2�
��%�� � 8����!92<�)� $���$�3
#
�37=A� �� �$���%#� ��5��2	��� �� 8%�8#�
�2�� ��	2�	6
�	7� ���3��	6���B��� M8�8%	4� 3���!�7>��
2�$��
%��	�8
!�3��8�=����$���%92������3��	6���B����*++V�,++�$�
8	6�N��
�	3���:����8����!#
7	8%�%2�������$��	���+W�-�$�
8	6���36���
�	B6	����B��3
��8����!#�2�8%������B�	3�������%4	@
%������ $�!�;	���� $�
8	6�� 6#:� B�	3���� $�6������� �� 4�
8�4�6�	7� �� 4���4�6�	7� �� � $����7�
2�2�	�8��� ���
�6#4��� ��:���#<

���92����	� $�4�	������ � 4��#�6��	� B��3
92� 8����!92� �� $�4�	�����4�� �#%�4�@
%�����	��$��	$��2�3���	�����+�2�
��%�� �$#�
%�� ����$�=��#��37=���� ��3�!��B�	3���:!>3
�
�!���� $�
8	6�<� .	8%� %�� 3�BA�3#;����6	���	2�	6
�� 6���:�� $�
8	6�� $���$�3�7>��� ���� 8����!
$�2�3#7	�$	2�>��� ���	5��	4��BA���$��	��%��$��:6	4����2	%���4��#�6��4�$�4���	4<

/	$8�	�2���
�� #��8
���� 36���:���92����$���%#��� ���3��	6���B���*�4	��$�
8	6�<���@
�92����	� $�4���#� 4��#�6�	��� �� �#%�4�%�����4� 36�� B��3
�� 8����!#� �:6�����	��� 7�
�
B�	3���� ��2�
��%�� � $�
8	6�� 3�!����� �,�4�	������ � $#�
%�� ���� $�=��#� �37=���� � B�	3��
:!>3�$�4���#�+�X�$�
8	6������B2��3�������3#;��6	$8�	7�3�
!�3��B������4�	�����4��:�	
��	<

.	B6���	7	8%���7���3:�2��8�=����$�4��>��$���%#���2�=
8�	7����3��	6���B�����	�%���
#6	

4�;���2�������A�7�
��B��3
���
�=�92��$��
8�4�2���� �$�
8	6�4��:��	��2�4��2�
��@
%�� �8����!92�2	3!#����8%=$#7>�	���$��8%	����6����%4#O

&92����	��
�=�#�4����8%=$#7>�>�$�8%�A

− + − =� � �
� �& ' & '� � � � �

���6� M,N

− ⋅ + + − ⋅ + − = =� � � � �
� � � �� � �� � � � � � � � � �

��� 6��	������7�O

∂ ∂ ∂+ + + =
∂ ∂ ∂

+ − + − − =

�
� �

� �

�
� � � �
& ' 
& ' 


� � �
� �� �� �� �

� � �

� � � �� � � �� ��� �

M�N

���2�>�#7	4��4	%�3>���74��	78��� �
2�3��%92��$���:6�;	������	2��3�4�� �$���74#7>�O
�������������#���	���������
��������	�
$��������
$������6��������:6����7>��7�
��2���
���$�!�@
2���9;�����$����7��%�� �$�
8	6�<

 ��!
�
��
�	���	"������
����#�$��
��
�
���%

)�=
8��BA� ��5��2�� � �$���%92� 5�%����5������ � �	7	8%�#7	� �:����� 2� 5��4���	� .�0<
1�4$�	87���:���#�7	8%��2�
6	�32#@�6#:�%���8%�$���2�<



�#%�4�%������3	%	
�7����$�4����4��
	�92�2��5�%����4	%������4<<< 
�-

)� %��
��	� :�3����� ��� $�4��>� ��5��2	��� 8�8%	4#� $����7���2����� $��7	�%� 7	8%� �	@
7	8%��2�������2�	6#� �37=���� �� $���	2�;� $���:�	��� �9;�	� #!�;	���� ���!�<�2�#2�;����� ;	
2� �	6#� ���	7	8%��2�������� 7	3�	7� 
����	� �37=A� 
�6
#� $��7	�%92� �8�:�� �:8!#�#7>��� 8�8%	4
��	
�	3���2�=
8���8%�$�	?�
�4$�	87��.�0<�)�:	��%	�����6	;�!���:�3�A��7�
�2$!���	������
3�
!�3��BA��#%�4�%����	���$�4���#�8����!92������	6	�$��7	�%�<

2�6	;��BA�%=�$��	:�3����36���37=����2�7B���2	�������
%9��4�2����������$���4	%��
3	%	
�7��:��2��8����!#��$�33��	����9;��4�8%�$���4�
�4$�	87��2�$�����4�	�� �%�8 �$<
���92�����:!=3��2������	�����	�%�92�8����!92�2�8%�8#�
#�3���:���#�2	7B���2	�������
6���:=�2�
��%�� �$�
8	6�<�2�6	;��B���%	���:����2����2�%�:	6�����������8#�
#�,<

&�'�(�����-�!�������	�������������0+��	�����!��	�#!���������
�	���������������	�!��

��������-�!�������	�������������0+��	�����!��	�#!���������
�	���
���	�
��	�����!� �	�����������

0 

0,2 

0,4 

0,6 

0,8 

1 

1,2 

0 500 1000 1500 2000 

�������	
�����

��� 

�
��

�
�

�

�

��
�


�
�

�
��

��




�
�
��

 
w

 o
d

n
ie

si
en

iu
 d

o
 p

lik
u 

 
o

 n
aj

m
n

ie
js

zy
m

 s
to

pn
iu

 
ko

m
p

re
sj

i 

����
	
��
������

����������

�����

�������
���
�� �!"�����

��#���

�
�������
��$��%��

�

 ��
�

�� ���3� 1� �����

�� �432� ���2� �3�2�

�� ��2Y� ���4� �324�

2� 3�2� ���3� �2�3�

3� �22� ���4� �2���

�� 3��� ����� �2���

4� 233� ����� 343Y�

3� ��4� ��2�� 32�3�

Y� �23� ��23� 3�2��

��� �3�� ����� 243��



GJ�  <������
�����!<�5������

1���	���������!��� ����6������������ ��������6������������	�������"����
������	�
�����������	�
��
����!����	����	� �	�����	������������<

)��*�"�
��
��"����	�+���	��������+��
��	"����%��
�+

7;���	� 3�� 8����6����7�� �3	�%������ � 
#6	
� $�2�3#7	�� ;	� 2�
��%	� ��� �:#� �:����� 
$��7	�%��4��
	���8>�$�3�:��4��$6�4
�4����
8�%�!��	��:6�;���4�3���
�=�#����%	4�#;�%�
$���
!�3�2��36��88$���2����9�4	%�3��
��	6��7���:���92�3�$�8#7	�
�;3���:����4��
	��
��$��2	����37=����3��
�;3	�����6	2	��<�:6��5�%����4	%�����	����
�	B6	������ �$��	8%��	�@
�	7�$����7����6	;��7	�3�$�8�2�A��3$�2�	3����%�
���:��%�6
��$#�
%�� �4�6������	�����:#
�:����� �#��8
�!��%	��8�4��3	�%�5�
�%��<

:6��3�$�8�2�����8����!92�2�:�����32��
��%	���O

�N $�!�;	��	�����3$�2�	3��	7�6������3�	��	7�M	$�$�6���	7N�
,N 4���4#4�$���6�
8��$�$��	���	7�$�����	�%��7��2��7	4�	7��:#��37=A<

2�
!�3��8�=��;	�3�$�8�2���	�8����!92���8%>$��$��#$��	3����2�
����	7����	�%��7��2��@
7	4�	7� M$�	�28�	� $���:6�;	��	N� 2�
����8%#7>�	7� 5�%�$#�
%��4�	8���>�	� 8�=�2� $!�8����C��	
6#8%�����8����6���2��	�����4�%�$	4������
92<

)��������"��	
��
��"����	�	���"��	��������
����+

/���	� �3�	��	� $#�
%#� ��:����2��	��� ��� 32#� �37=���� � 2�������7>� 32�� $#�
%�O
$#�
%� �3�	�����
%9��� 7	8%� ��#%	4�B��3
�2�4�B��3
�� ��#%92�3�#��	����37=����$���������
�:�������$�%��2��	���$#�
%#�����37=��#<��#�
%���
�	B6�7>�	�6���=����$��2�4��37=��#�M:�
$���7=%����8�3=�3�$�8�2�����$#�
%#�$��2	����37=����3��$#�
%#�6	2	����37=���N�2����@
���7>��92�����O

′′ ′′ ′′ ′′ ′′ ′ ′′− + − + −′′ ′′= −
′′ ′′ ′′ ′′ ′′ ′ ′′− + − + −

′′ ′′ ′′ ′′ ′′ ′ ′′− + − + −′′ ′′= −
′′ ′′ ′′ ′′ ′′ ′ ′′− + − + −

′′ ′′′ ′′= −

�

�

�� � �� � �� � �

�� � �� � �� � �

�� � �� � �� � �

�� � �� � �� � �

��

� � � � � �

� � � � � �

� � � � � �
� � � � � �

�

�

�

�

� � � � � � �
� �

� � � � � � �

� � � � � � �
� �

� � � � � � �

�
� �

′ ′′ ′′ ′′ ′′+ −
′′ ′′ ′′ ′′ ′′ ′′+ −

′′ ′′ ′′ ′′ ′′ ′′+ −′′ ′′= −
′′ ′′ ′′ ′′ ′′ ′′+ −

�� ��

�� �� ��

�� �� ��

�� �� ��

� � � � �
� �

� � � � � �
� �

� � � � � �
� �

� � � � � � �
� �

� � � � �

� � � � � �

� � � � � �
� �

� � � � � �

M�N

�8$9!�	=3
��$#
�%#��3	�

�
���%�	�4#7�4��$�	�	�$�38%�2��
���3���92
�
�����6�@

���
�B��� 7����$#
�%#��	#%�2�
�
��
��	37=����$��2��R�6�2�
��B��3����	#%92<��	�8��
��



�#%�4�%��	
��3�%���7����$�4����4�����92�2��5�%�
��4�%���	
�4<<< ���

�	#%#� $#
�%#� �′′� 
�� $��2�4� 	37=��#� #4�;6�2��� $�	�7B���� $�	�	� 	37=���� �$�$�6��
�O� 
�7@
$���2�	
�73#7�4��$�!�;�
���$#
�%#���
��$�4��
��	�4�6�2�4�	37=��#��$�$�6��
�4����
�@
8%=$
��� ���	�8%�7>�� 	� 2!�8
�B��� �:��	92� �$�$�6��
�� �� �:6��	�4�� $�!�;�
��� $#
�%#� 
�
$��2�4�	37=��#��$�$�6��
�4O

′ ′ ′ ′ ′ ′+ −′ ′= −
′ ′ ′ ′ ′ ′+ −

′ ′ ′ ′ ′ ′+ −′ ′= −
′ ′ ′ ′ ′ ′+ −

′ ′=

′′ ′′=

′′ ′= +

′′ ′=

�� �
 ��

�� �
 ��


� 

 
�

�� �
 ��

� � �
� � � �
� � � �

� �

� � �
� � � �

� � � �
� �

�

�

� �
� �

� �
� �

� � � � � �
� �

� � � � � �

� � � � � �
� �

� � � � � �

� �

� �

� � �

� �

M�N

��?��2�4��5��%�4��:6��	�?�7�8%�2�	
��	�
���$#
�%#�
�����
�
�6
�4�$��2�4�	37=@
��#�M�N<

��	�6��	�
���
��	37=�����$�$�6��
��#4�;6�2��7>�2�	
��	�
��2�$����8�������
%��7��2	�@
7�4
�7�$���4�%��O

Z �>%������
%��7��$��2�
��	37=����2�8%�8#
�#�3��6�2�
�O�ω′′��ϕ′′���κ′′�
Z 8�!�3�2��:�	��2�#�!�3	���4�3�6#O�	���	���	�<

������	���:��%#�	37=A�$���2�%
�� �3���$�$�6��
�� 

�
� �� � �= ⋅ M�N


3	��O

� � �
� ��� ���
� ��� ���

��� � ���
� � �
��� � ���

��� ��� �
��� ��� �
� � �

� �� � � �

�

�

�

Ω Φ

Ω

Φ

Κ

= ⋅ ⋅

⎡ ⎤
⎢ ⎥= Ω Ω⎢ ⎥
⎢ ⎥− Ω Ω⎣ ⎦

Φ Φ⎡ ⎤
⎢ ⎥= ⎢ ⎥
⎢ ⎥− Φ Φ⎣ ⎦

Κ − Κ⎡ ⎤
⎢ ⎥= Κ Κ⎢ ⎥
⎢ ⎥⎣ ⎦
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